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1.  Answer the following questlons 1x8=8
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(@) Define ‘derived demand’.
ZR® Hifdare e

(b) Write the mathematical form of the
 C.E.S production function.

".CES Bl o MRS ol Bt -

(c) What is partial factor productivity?
SIRMT Cetlrm BestrpTerel e

(d) With a 12% interest rate what is the
' present value of Rs. 120 that will be
received in the next year?
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(e)

(9)

(h)
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If X and X, are two possible outcomes

of a risky situation, and P, and P, are

‘their respective probab1ht1es ﬁnd the
- expected utility.
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Who, is known as the father of game

theory?
et R Figaed ST At IR e

What is meant by Pareto Optlmahty')
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State the First Fundamental Theorem
of Welfare Economics.
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Answer any six of the following questions :
wot it s e W@m foeat ¢

(a)

2x6=12

Explain the concept of marglnal
productivity. ,
olifte BerlmmieToN, RACST T 1 |
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(d)

(e)

(9)

(h)

What is a fixed coefficient production
function ?
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What does a contract curve 1nd1cate'>
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If two possible outcomes of a risky
situation are Rs. 100 with probability
0-4, and.Rs. 120, what will be the -
expected income of the situation?
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‘Define fair gamble with an example.
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State two major differences between:
monopoly and monopolistic competition. .
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~Who is a player in Game Theory ?
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Explain the concept of social welfare °
function.
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Define the Kaldor-chks compensatlon
priniciple in brief. '

o W@ﬁ%‘fﬁﬁ’lﬁﬂﬂx@ﬁ"@l

- 0)

Interpret the slope of the transformation

curve.
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. - Answer any four of the followmg questions :
Sx4=20
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(@) .

(b)

Discuss how technological progress

changes the posmon of the production |

function. Explain in this context, capital
deepening and labour deepening
technological progress.
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For the Cobb-Douglas production
function 'Q = AL°K”, show that a+ g
“indicates return to scale.
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WA T a+ f @Wﬂﬁ%@?ﬁ\%ﬂﬂml.

'BO6FN 0066 4

(c)
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(e)
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“For risk averters, losses are more

important than gain.” Explain the .

statement with an example. '
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What is certamty equivalence income
(CEI)? How is the cost of risk measured-

‘using the CEI? . 342=5
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Distinguish between the perceived and”
proportionate demand curves under
monopolistic competition Which of .
these two curves is ﬂatter and why?

3+2=5.
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Taking an 1mag1nary pay-off table,
explain the equilibrium in the case of
a two-person zero sum game.
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Derive the marginal condltmns for
Pareto opt1ma11ty in the context of
product mix.
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State the Second Fundamental Theorem

‘of Welfare Economics with a suitable

diagram.
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- 'Answer ‘any two of the followmg questions :
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(@)

(b)

Explain the demand for labour in a

perfectly competitive market when—
(i) labour is the only variable factor

(i) there are several variable factors.
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With the help of a suitable diagr.a{n,
explain how the production possibility

frontier is derived for a multi-product

firm.
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(C)
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(e)

Explain how a consumer w111 choose to
spend her money across two time
periods with a fixed rate of interest in
order to maintain equilibrium.
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'Explain with diagram, how a

discriminating monopolist attains
equilibrium.
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'Explain Walras’s vision of the Workmg

of the economic .system.
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